5.1 HW Properties of Parallelograms Name: u‘:\l

Algebra The perimeter of LIPQRS is 84. Find the length of each side of TIPQRS
under the given conditions.
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31. Cars To repair a large truck, a mechanic
might use a parallelogram lift. In the lift,
FG=GH=LK=KJ.and FL = GK = HJ.
a. Which angles are congruent to £1?

Justify your answer.

b. What is the relationship between
Z1 and each of the remaining
labeled angles? Justify your answer.
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Complete each statement about CIKMPR. Justify your answer. M P
32. /MPR= LR¥M 33. ZPRK=LmpP 38 MT= @X U
35. PR = Edn 3. MP| ZIE_ 37. MK P _ i\ < g

38. /MPK=L@MP 39. ZMIK = LRIP 40. msMKR + mZPRK = (B0



I‘ind the values of x, y, and z in each parallelogram.
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51. What is the value of x in CIPQRS? CGrr R
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52. The diagonals of CJJKLM ihtersect at Z. Which statement is true?
P JL=KM @JL-.-.lxM (H)JL:-%.IZ @ /=22

53. Gridded Response In (JABCD, BC = 8.2, and CD = 5. What is the perimeter

f CJABCD?



